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jlk;u foKku
CHEMISTRY

(313)
f'k{kd vafdr ewY;kadu i=k

TUTOR MARKED ASSIGNMENT

oqQy vad % 20
Max. Marks : 20

fVIi.kh% (i) lHkh iz'uksa osQ mÙkj nsus vfuok;Z gSaA izR;sd iz'u osQ vad mlosQ lkeus fn, x, gSaA
Note: All questions are compulsory. The marks alloted for each question are given at

same place.
(ii) mÙkj iqfLrdk osQ izFke ì"B ij Åij dh vksj viuk uke] vuqØekad] vè;;u osQUnz dk uke

vkSj fo"k; Li"V 'kCnksa esa fyf[k,A
Write your name, enrollment number, AI name and subject on the top of the first
page of the answer sheet.

1- fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mÙkj yxHkx 40&60 'kCnksa esa nhft,A 2
Answer any one out of the following questions in about 40 to 60 words.
(a) ;|fi cSfjfy;e dh rqyuk esa cksjku dk vkdkj NksVk gksrk gS] ysfdu cSfjfy;e dh izFke ,aFkSYih

cksjku dh vis{kk vf/d gksrh gSA (ikB&3 ns[ksaa)
Although B (Boron) is smaller in size as compared to Be (Berellium) but the first ionisation
enthalpy of Be (Berellium) is higher than B (Boron). (See Lesson-3)

(b) fuEufyf[kr esa ls fdldh bysDVªku xzg.k ,aFkSYih vf/d ½.kkRed gksrh gSA vius mRrj dk
vkSfpR; nhft;sA

F vFkok Cl (ikB&3 ns[ksaa)
Out of the following which has more negative electron gain enthalpy. Justify your answer.

F Or Cl (See Lesson-3)
2- fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mÙkj yxHkx 40&60 'kCnksa esa nhft,A 2

Answer any one out of the following questions in about 40 to 60 words.
(a) fuEufyf[kr dks ykSgpqEcdh;] izfrykSgpqEcdh; vkSj y?kqykSgpqEcdh; esa oxhZÑr dhft,A

Fe3O4, MnO2, CrO2, MnCl2, CuFe2O4, CrBr3 (ikB&6 ns[ksa)
Classify the following into Ferromagnetic, Antiferromagnetic and Ferrimagnetic
Fe3O4, MnO2, CrO2, MnCl2, CuFe2O4, CrBr3 (See Lesson-6)

(b) ;fn iQkLiQksjl dks flfydu osQ lkFk vifefJr fd;k tkrk gS vkSj flfydu dks cksjku osQ lkFk
vifefJr fd;k tkrk gS] v/Zpkydksa osQ izdkj dh igpku dhft,A
If Phosphorous is doped with silicon and silicon is doped with Boron, identified the type of
semi conductions.
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3- fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mÙkj yxHkx 40&60 'kCnksa esa nhft,A 2
Answer any one out of the following questions in about 40 to 60 words.

(a) vkDlkbM v;Ldksa dks dkcZu osQ }kjk vipf;r ugha dj ldrs gSa D;ksa\ (ikB&16 ns[ksa)
Oxide ores cannot be reduced by carbon. Why? (Seee Lesson-16)

(b) cksjku VªkbZDyksjkbM ,dyd gksrk gS tcfd ,Y;wfefu;e VªkbZ DyksvkWDlkbM f}yd gksrk gS] D;ksa\
Boron trichloxide exists a monomer why aluminium trichloxide exists as dimer why ?

4- fdlh ,d iz'u dk mÙkj 100&150 'kCnksa esa nhft,A 4
Answer any one question in about 100 to 150 words.

(a) MkblSosQjkbM vkSj ikWfylSosQjkbM osQ ty vi?kVu ls izkIr gksus okys izR;sd mRikn osQ nks mnkgj.k
nhft,A (ikB&29 ns[ksa)
Give two examples of products obtained on hydrolysis of disaccharides and polysaccharides.

(See Lesson-29)

(b) D;k gksrk gS tc & larqfyr jklk;fud lehdj.k nhft,A (ikB&19 ns[ksa)
(i) BCl3 LiAlH4 osQ lkFk vfHkfozQ;k djrk gSaA
(ii) Ca2B6O11  Na2CO3 osQ lkFk vfHkfozQ;k djrk gSA
What happens when - give balanced chemical equation:

(i) BCl3 reacts with LiAlH4

(ii) Ca2B6O11 reacts with Na2CO3 (See Lesson-19)

5- fdlh ,d iz'u dk mÙkj 100&150 'kCnksa esa nhft,A 4
Answer any one question in about 100 to 150 words.

(a) (i) ekud l aHkou , UFkSyi h dh i fjHkk"kk nhft ,A N2O5 ds l aHkou dh , d jkl k; fud vfHkfØ; k
fyf[ k, A

(i) Define standard enthalpy of formation. Write a chemical equation for the formation of
N2O5.

(a) (ii) 17°C i j  xzsQkbV l s CO2 dh ngu ,UFkSYi h –23110 J gS rFkk CO l s CO2 dh ngu , UFkSYi h
– 16261 J gSA 17°C i j  CO dh l aHkou , UFkSYi h i fjdfyr dhft ,  N2O5 ( i kB&9 ns[ ksa)

(ii) At 17°C, the enthalpy of combustion of graphite to CO2 is –23110 J and that of CO to
CO2 is – 16261 J. Determine the enthalpy of formation of CO at 17°C.

(See Lesson-09)

(b)    (i)    [Co(NH3)4Cl2]
+  ds T; kfefr;  l ek; o fyf[ k, A

(i) Write down Geometrical isomerism of [Co(NH3)4Cl2]
+

¼ii½ [Co(en)3]
3+ ds i zdk' kh;  l ek; o fyf[ k,A ( i kB&22 ns[ ksa)

(ii) Write down optical isomerism of [Co(en)3]
3+  (See Lesson-22)
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6- uhps nh xbZ ifj;kstukvksa esa ls dksbZ ,d ifj;kstuk rS;kj dhft,A 6
Explain any one project out of the given below.
(a) vki iM+ksl esa Hkze.k dhft, vkSj fofHkUu L=kksrksa tSls fd unh] oqQvk¡] uyosQ dk ikuh bR;kfn ,d=k

dhft, vkSj ogk¡ osQ ikuh dh xq.krk esa varjksa dks uksV dhft,A
(i) dkSu lk ikuh vR;f/d iznwf"kr gS\
(ii) D;k vkS|ksxhdj.k ty iznw"k.k osQ fy, mRrjnk;h gksrk gSA
(iii) ikuh osQ iznw"kdksa osQ uke nhft,A
(iv) tSo jklk;fud vkDlhtu ek¡x D;k gksrh gS\
(v) ikuh esa ÝyksjkbM dh vf/d ek=kk dk D;k izHkko gksrk gS\
(vi) ikuh dks ihus ls igys mldk Dyksjhuhdj.k D;ksa djrs gSa\
Visit nearby place collect the water from different sources such as river, well, handpump etc.
and noted down difference in water quality
(i) Which one is more polluted water?
(ii) How industrialization is responsible for water pollution?
(iii) Name the water pollutant.
(iv) What is BOD?
(v) How does excess fluoride ion affect us?
(vi) Why is the chlorination of water done before drinking?

(b) vius iM+ksl dh vkS"kf/ dh nqdku ij tkdj fuEufyf[kr dks ,d=k dhft,&
cksfjd ,flM] lqozQkyksl] fiQukflfVu] fiQukWy VjisQukfMu] eSXuhf'k;e gkbMªksDlkbM
(i) izfrvEy osQ :i esa mi;ksx gksus okys ;kSfxd dk uke nhft,A
(ii) iwfrjks/h ,oa jksxk.kquk'kd nksuksa osQ :i esa mi;ksx gksus okys ;kSfxd dk uke nhft,A
(iii) ehBsiu dks fu;af=kr djus esa mi;ksx gksus okys ;kSfxd dk uke nhft,A
(iv) Tojuk'kh osQ :i esa mi;ksx gksus okys ;kSfxd dk uke fyf[k,A
(v) izfrfgLVSfeu osQ :i esa mi;ksx gksus okys ;kSfxd dk uke fyf[k,A
(vi) iwfrjks/h esa mi;ksx gksus okys ;kSfxd dk uke fyf[k,A
Visit the nearby medical soap and collect the following :
Borie acid, Sucrolose, Phenacetin, Phenol terfenadine, Magnesium hydroxide
(i) Name the compound used as antacid.
(ii) Name the compound used as antiseptic as well as disinfectant.
(iii) Name the compound used to control the sweetness.
(iv) Name the compound used as antipyretics.
(v) Name the compound used as antihistamines.

(vi) Name the compound used as antiseptic.
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